I AE T 5 AT AL

— JH 22 2Go+

@xushiwei



& (const)

* B
> B -1,0,100
> SR OB 1.2, 2.3e-6, -1.2e3
> B8 245i, 1.2i

° T‘?/J\
> true, false

* SUAS (FATHER)
> "He”O", "/Vﬁﬁ%", ||123||, ”'1.263", "true"




‘v_A

« B

iz (operator)

iz (BERVEF RBUER): +-71 %

>

1+2,10% 3,32.5/3

» XABH (TATER): +(IER)

>

II_1II + II23II

s WEIBE BUE/UA): >>=<<===I=

>
>

BUE LR (EA/N): 1>2,32>=0,100 != 1e2

AR (FHF)T): "Hello" > "-123"

- fi/Ris | (R): || &&!

>

false || true, 32 >= 0 && !false

- (i (BAD): | & MGREVEUR)

>

3|51,732,3270



PR %Y (func)

sin(-1.2), pow(2, 3)

8 H R
>1+2 %41 add(1, 2)
> 32 >= 0 T greatThan(32, 0)
> Ifalse 41T not(false)
> true && false ¢4/} T and(true, false)
s iz F/IL ek
> 32 >= 0 && !false /T and(greatThan(32, 0), not(false))

y Klﬂl%g A%‘ﬁéﬁﬁﬁv&%#
> SRR IB5E k%AMQﬁkﬁ%%

‘ %3, //l\gln IIIJEH mOd(1O 3)
>5FEI§&J§/§ ﬁjﬂﬁlmmﬁﬁz** =

10
N3, KibmiEs H pow(2, 3)



fin®> (command)

 HUGESH IS, B HSC R R (I A RS
> step 10 ZEH T step(1 O)
> say "Hello", 3 &1 say("Hello", 3)




11, (package)

+ HTLAfRT TR 1 B S

import "math”
echo math.sin(math.Pi / 3)



N e (var)

—

« AR B PMBEHI{E var x = 123
o i AR[BEMIME const x = 123

e X 1= 123 ((F—IR kK & I{H)
> 2T var x = 123
e x =10 (J5L2F-R)

- x += 10 GhE )
> Bl x=x+10

R
> HYIE TSR ZBE SR =
> AR EAIAEE PR R (EARFEATT B ) HA R — MRS Besh AL &)



AT (control)

« 251 (if/else, switch/case)
> ifcond { ... }
> ifcond{...}else{...}
> switch expr { case v1: ...; case v2: ...; default: ... }

* 524 (for)
> A for cond { ... } B¢ while cond { ... }
> TEEANIR: for:N{...} B repeat N {...}
> JEIEER: for { ...}
> ZE WS (break)
TS
> RERTTE T 22 (0, Bian:

 if (cond){ ...}
« while (cond) { ...

}
- AR S 22 580K, S & until cond { ...}, il while &A%

« T whilelcond{...}



K 142+...+100

sum:=0

=1

for :100 {
sum +=|
| += 1

}

echo sum



1 7€ X PRI (UDF)

func gauss(n int) int {
sum:=0
| =1
for :n {
sum += i
| += 1
}

return sum

}

echo gauss(100)



JA (type)

iy

. K
> &P int, uint
> SEEL (B R E): float32, float64
> 52 8: complex64, complex128
* 1fi /R
> bool
o AN (FATE
> string

uu
~—"



)4, (closure)

CPRL: A4 (LA ETH) R

fil =>{...}
Al x=>{..}
(XY, 2)=>1{..}

St

« LS HN
« AR

. L BEK

SH

St



* T

o

= (i n] fe P 02)

O REL, ol Z A R B 2 80— %L (callback)

. onMsg "game over", =>{ ... }
* il

onClick =>{ ... }
onKey key =>{ ... }



3

G

« SN IV
> [1, 3, 5]
> ["Hello", "123", "-1.2e3"]
> JIFREE
« QUH/TH)F: ali], afi;], ali:], al:]
o UNINME: a=append(a, V)
* FIi map[K]V
> {"Mon": 1, "Tue": 2, "Sat": 6}
> FHLEAE
« BUH: v=alk] B v, ok := alK]
o WNHME: ak]=v
o MR{E: delete(a, k)
B E AT

- BRAEA HITE S Y B S %A

. HRE

v




VA (classfile)

- HE X RA UDT (BEsity = 225 + K%l
* Rect.gox

var Width, Height floatc4

func Area() float64 {
return Width * Height

}

rect := Rect{20, 30}
echo rect.Area()



\[\~

S A4 vs. DSL

o 2 AF (classfile) A~ HEHE X3

/|
J

- ‘Bl ;U gnAE (U DSL)




Go+ Jite g of

~
——
A

o XA RE IS
> const, var. operator/func/command/closure. package
> control: if/else, switch/case, for/break
> type. list [[V. map[K]V
> classfile (var + func as UDT)
o FRTHO B
> BN A SRR T (UBRIX TR E AR RS —F)

> operator 2%, Go+ S R A[HE£ 11 operator (FlANERHEET ->,
<> DXL ERVERT)




